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2024
EDUCATION

( Honours Core )
Paper : EDU-HC-4026

( Educational Statistics )

Full Marks : 60 .
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
- were feuicarea FotrE® Sea

fa) Who was the chief exponent of
. statistics. ' .

. offorg) REma & g e EifRe ?

fp) Compute mode of the data for which
mean and median are given 30 and 32
respectively.
TR oY 418 S RPN FH 30 TF 32 SR
* ] TEAF 1 40
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{c

(d)

(e}

{9)
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(2)

is a bar graph with no gap in
between.

{ Fill in the blank )

o CE T w5 A NS I A 37
iyl

(R I @t T )

What is zero correlation?

0 e R

Write the formula of calculating
percentile point.

.ﬁﬂmﬂmaﬁﬂxﬁ&@ﬁ_

What is the value of kurtosis in a
normal distribution? _

Frefee Reaq wore Igmare a1 I ey I
2 |

Which of the following statements is
true regarding negatively skewed distri-
bution?
YT Rewer Rean cvas v @wes I
2] ? )
(4} The mean is higher than median
and mode.

uﬁﬂaﬂ«%é%_

{ Continuted )

(3)

(i) The median is lies between mean
and mode,

U] TS T IHRER TS W |

(i} The median is lower than the mean.

TYA STPSLF B |
fiv) None of the above
G CITARDIRE T
( Choose the correct answer )
( o% TIwh! 2R Sorear )
2. Answer cu_n following questions : Ox4=8
T AP T fawt

{a) Find out the median from the following
set of scores :

woTe iy AFEARA R T Fefy 70
12 24 10 35 29 42 19 15
(b) Write any two principles of constructing
a graph.
oo et i ¢1eeT 751 WS forn |

(¢ Write any two advantages of product
moment method.

QT o8 1St R I 551 R forar o
{d) What is normal distribution?
TSRS R w37
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(4)

3. gwﬁon any three of the mo__odsbm questions :
5x3=15
ST PR m A @mw_‘ e fim -

faj Write the functions of statistics.
sifre e Frfz @

{b) Determine standard deviation from the
~ following scores :

SR FPEITR o[ e Rpife R 30

18 25 21 19 27 31 32

fc) Write about the drawing procedure of
cumulative frequency percentage curve.
AR TR MO (ALY A Tl oo
forami

{d) Determine coefficient of correlation by
using rank difference method w.oa the
following ranks of two sets :

o AR R FITRART @ T N TS
A IR T 8N R

Test1 : 4 3 1 6 8 2 5 7
Test2 : 3 1| 2 7 8 4 6 5

fe) Write the properties &. :S.Bmh
probability curve. : -

FreiRe TERATS! i R fora o
24A/T06 { Contintied )

¢ 5)

4. Answer the following questions : 10x3=30
T 2P T finn

{a) What is mean? Write its two merits.
Determine mean of the following data :

242+6=10
s R 2 XA 951 R ot | TR S o
1% [y 31 :
Class Interval Frequency
Y s JRAT
90-99 5 -
. 80-89 6
70-79 9
60-69 15
50-59 7
40-49 5
30-39 3
N =50
Or / 91

(b} What is m¢o_.mm<n deviation? Determine
average deviation of the following table :

2+8=10
1% RS R 2 worg o [ o6 Rpfe
g =11 :
Class Interval Frequency
o451 SEA TS
26-28 2
23-25 3
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(6) {(7)
Class Interval Frequency Or / &=y
% o TR
20-22 5 {d) Determne combined standard deviation
17-19 7 from the wozos.mum.nmnm : 10
14-16 10 TR CUA R e T RS ey 4y
11-13 S
8-10 6 First Group Second Group
5-7 2 295 757 il
N =40 N 40 20
. M 25 15
(¢) What is histogram? Draw a histogram SD 10 5
and a frequency polygon on the same
axis from the following table (use graph e) What is percentile rank? Determine

paper) : 2+4+4=10

HHehy 37 Saq SRR o441 UTF SIS
b TPy WF OB IRARS ITHE I
9 (2T Jrere JRER Q) ¢

Class Interval Frequency

T S
60-64
55-59
50-54
4549
40-44
35-39
30-34
. 25029

-

; —
N OO PN

=
Il

.
(=]

{ Continued j
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PR75 and PR94 from the following
table : 244+4=10
e W 7 TR TIfRRe o[/ PR75 i@
PR94 ffa o041 :

Class interval Frequency
7 s LRSI
90-94 2
85-89 5
80-84 5
75-79 12
70-74 20
65-69 16
60-64 7
55-59 5
50-54 3

N=75
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{8)

Or/ 3931

{fi Mean of a normal distribution is 56 and
standard deviation is 6. Assuming the
distribution to be normal, answer the
following : 5+5=10
QT (¢ TERe R | 1% 29 56 9+
TR Rgfe 2o 6. Resaw smme
Reifers 31 4Rist wore Pz e i

fi) Calculate the percentage of scores
falling between 44 and 62.
44 ¥ 623 WES I/ A WA [y
01

(i} Find out the percentage of cases
above 51, a
513 @7 1o STl Ay 1)

% e i
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